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CIRCLES

Multiple Choice Questions

1.In the Fig, if TP and TQ are the two tangents

to a circle with centre O so that


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Q5b4jp4ubBrt

/POQ = 110°,then ZPTQ is equal to

T

A.90°

B.110°

C.70°

D. 40°


https://dl.doubtnut.com/l/_Q5b4jp4ubBrt

Answer: C

o Watch Video Solution

2. In the given figure ,APB is tangent of the
circle at the point P on the circle.PQ is a chord

If ZBP(Q = 62° then ZPQR is equal to:



https://dl.doubtnut.com/l/_Q5b4jp4ubBrt
https://dl.doubtnut.com/l/_8TayQs1fhIjw

A. 28°

B.118°

C.124°

D. 62°

Answer: D

o Watch Video Solution

3.In the figure O is the centre of the circle .AT
and BT are the tangents at points A and B

respectively.IF ZOAB = 30° then the


https://dl.doubtnut.com/l/_8TayQs1fhIjw
https://dl.doubtnut.com/l/_UiA2phgkLa2d

measure of ZATB is

A.30°

B.15°

C.60°

D.90°

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_UiA2phgkLa2d

4. Three circles with centres AB and C touch
each other as shown in the figure .If the radii
of these circle are 8m ,3cm and 2cm

respectivelythen the perimeter of AABC'is :

A.13 cm


https://dl.doubtnut.com/l/_UiA2phgkLa2d
https://dl.doubtnut.com/l/_ZfaY0YrhRENG

B.16 cm

C.3cm

D. 26 cm

Answer: B

o Watch Video Solution

5.In the given given figure ,APB is tangent at P

to circle with centre OIf ZQPB = 60° then


https://dl.doubtnut.com/l/_ZfaY0YrhRENG
https://dl.doubtnut.com/l/_2yU3sqfT23uG

the measure of ZPOQ) is:

Q

A.60°

B.30°

C.120°

D.90°


https://dl.doubtnut.com/l/_2yU3sqfT23uG

Answer: C

o Watch Video Solution

6. In the given figure ,AB,BC and AC touch the
circle at LM and N respectively If /B = 70°

and ZC = 60° then the measure of ZLON is


https://dl.doubtnut.com/l/_2yU3sqfT23uG
https://dl.doubtnut.com/l/_JHJsWUEwIx5F

A.50°

B.110°

C.120°

D. 130°


https://dl.doubtnut.com/l/_JHJsWUEwIx5F

Answer: D

o Watch Video Solution

7. Two circle of radii 8 cm and 5 cm with their
centres A and B touching each other externally
is shown in the figure below.The length of

direct common tangent PQ is:

L


https://dl.doubtnut.com/l/_JHJsWUEwIx5F
https://dl.doubtnut.com/l/_Z2pXpjNjtDxA

A.16,/10cm
B. 4,/10cm
C.10,/16cm

D. 2,/10cm

Answer: B

o Watch Video Solution

8. Tangents PQ and PR are drawn to a circle

from an external point PIf PQ=9 cm and

/PQR = 60° then the length of the chord


https://dl.doubtnut.com/l/_Z2pXpjNjtDxA
https://dl.doubtnut.com/l/_Xe0BXiBs0ZuC

A.4.5cm

B.6cm

C.9cm

D.18 cm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Xe0BXiBs0ZuC

9. In the given figure ,TA and TB tangents
drawn from the external point T.PQ is another
tangent at S.If the perimeter of APT(Q is 20
cm .then the length of AT is :

—_ A p

Ll

A. 8 cm

B. 10cm

C.16cm


https://dl.doubtnut.com/l/_Vux9GvSl2l7E

D. 20 cm

Answer: B

° Watch Video Solution

10. In the given figure AC,CE and EH are
tangents drawn to the circle at B,D and F

respectivelylF CB=5 cm.and EF=3 cm,then the


https://dl.doubtnut.com/l/_Vux9GvSl2l7E
https://dl.doubtnut.com/l/_a9m6ieWRO2vh

length of CE is:

C

A.2cm

B. 5cm

C.3cm


https://dl.doubtnut.com/l/_a9m6ieWRO2vh

D. 8cm

Answer: D

o Watch Video Solution

11. Two circle of radii 5m and 3cm touch each

other as shown in the figure .The distance


https://dl.doubtnut.com/l/_a9m6ieWRO2vh
https://dl.doubtnut.com/l/_TWAO9xPBTPkK

between their centres is:

A. 8cm

B.2cm

C.5cm

D.3cm


https://dl.doubtnut.com/l/_TWAO9xPBTPkK

Answer: B

o Watch Video Solution

12.In the given TP and TQ are tangents drawn
to the circle with centre OIf /ZPT(Q = 40°

then ZOPQ is:

A.40°


https://dl.doubtnut.com/l/_TWAO9xPBTPkK
https://dl.doubtnut.com/l/_wlUY8YDmBDg1

C.20°

D.10°

Answer: C

o Watch Video Solution

13.In the figure ,AP,PC and CD are the tangents

to the circle.If the AP=3 cm and PC =8cm ,then


https://dl.doubtnut.com/l/_wlUY8YDmBDg1
https://dl.doubtnut.com/l/_N0Dk5vV1EqHG

the length of the tangent CD is:

A. 3cm

B.8 cm

C.5cm

D. 11 cm

Answer: C

| e


https://dl.doubtnut.com/l/_N0Dk5vV1EqHG

& Wwatch Video Solution I

14. In the given figure,chord AB =chord CD=8cm

and OX=3cm ,Radius OC=

A.8 cm

B.5cm


https://dl.doubtnut.com/l/_N0Dk5vV1EqHG
https://dl.doubtnut.com/l/_H02HsGizFLKi

C.4 cm

D.3cm

Answer: B

° Watch Video Solution

15. The length of the tangent drawn to a circle
of radius 3cm from 5cm away from the centre

IS

A.3cm


https://dl.doubtnut.com/l/_H02HsGizFLKi
https://dl.doubtnut.com/l/_VFOk15LnNQso

B.8 cm

C.2cm

D.4 cm

Answer: D

o Watch Video Solution

16. In the given figure if ZPAO = 30°, then

the measure of ZPOQ is :


https://dl.doubtnut.com/l/_VFOk15LnNQso
https://dl.doubtnut.com/l/_vf0uaqWd7MDw

A.60°

B.120°

C.90°

D. 30°

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vf0uaqWd7MDw
https://dl.doubtnut.com/l/_LFaoJ0NUwLmm

17. In the figure XPXQ and XR are tangents to
the circles.If the length of XQ =9 cm ,then the

length of tangent XR is :

C.9cm

D.12 cm


https://dl.doubtnut.com/l/_LFaoJ0NUwLmm

Answer: C

o View Text Solution

18. In a circle of radius 10 cm,O is the centre ,
OP 1 AB If OP=6cm,then the length of chord

AB is:



https://dl.doubtnut.com/l/_LFaoJ0NUwLmm
https://dl.doubtnut.com/l/_8OIpzKj76Na0

A.8 cm

B.12 cm

C.20cm

D. 16 cm

Answer: D

o Watch Video Solution

19. If two circles of Radii 4.5 cm and 3-5 cm are
touching externallythen distance between

their centres is :


https://dl.doubtnut.com/l/_8OIpzKj76Na0
https://dl.doubtnut.com/l/_jFug9iyMttrP

A.8.0cm

B.1.0 cm

C.70cm

D.75 cm

Answer: A

° Watch Video Solution

20. O is the centre of a circle ,AB is a chord

From the figure ,/ACB is:


https://dl.doubtnut.com/l/_jFug9iyMttrP
https://dl.doubtnut.com/l/_qelodNdTIzxk

A.90°

B. Less than 90°

C. Greater than 90°

D. 180°

Answer: B


https://dl.doubtnut.com/l/_qelodNdTIzxk

° Watch Video Solution

21. In the figure ,AB tangent to the circle with
centre OIf LZAOB = 30° then ZA and /B

respectively are:

A 75°, 75°


https://dl.doubtnut.com/l/_qelodNdTIzxk
https://dl.doubtnut.com/l/_2FgVFCfA4mpw

B.100°, 50°

C.80°, 70°

D.90°, 60°

Answer: D

o Watch Video Solution

22. In the figure ,AB,AC and BD are the

tangents as shown in the figurelF


https://dl.doubtnut.com/l/_2FgVFCfA4mpw
https://dl.doubtnut.com/l/_U7XMWvVVyTtK

AB=xcm,BD=ycm ,then AC is equal to:

A.xcm
B.ycm
C. (x-y) cm

D. (X + y)em


https://dl.doubtnut.com/l/_U7XMWvVVyTtK

Answer: C

o View Text Solution

23.In the figure ,A and B are the centres of two
circles with radii 6 cm and 2 cm respectively

.CD is the diameter then MD is equal to :



https://dl.doubtnut.com/l/_U7XMWvVVyTtK
https://dl.doubtnut.com/l/_YY1jK0T2BGcr

A.8 cm

B.6cm

C.4 cm

D.2cm

Answer: A

° Watch Video Solution

24. AB and CD are two equal and parallel

chords in a circlelf the distance from the


https://dl.doubtnut.com/l/_YY1jK0T2BGcr
https://dl.doubtnut.com/l/_QiKdEQk5wNkD

centre of the circle to the chord AB=2x

units,then the distance between the chords is:

A. 4x units

B. 2x units

C. X units

D. 1 unit

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QiKdEQk5wNkD

25. Z/ABC is an angle in a major arc.Then

LABC is:

A. Obtuse angle

B. Right angle

C. Acute angle

D. Straight angle

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fXXX5aRk0LXW
https://dl.doubtnut.com/l/_4iA9mQ2GEkro

26. In the given figure ,O is the centre of the
cirecleAC and BC are the tangents.lf

/BOC = 65° then ZACOis :

( Wm
QY =

A. 25°

B.35°

C.65°

D.115°


https://dl.doubtnut.com/l/_4iA9mQ2GEkro

Answer: A

o Watch Video Solution

27. IN the given figure ,0 is the centre of the

circleXY is a tangent.If ZPQY = 55°, ZOPQ


https://dl.doubtnut.com/l/_4iA9mQ2GEkro
https://dl.doubtnut.com/l/_BvdZEsAcxUZS

A.125°

B.120°

C.110°

D. 35°


https://dl.doubtnut.com/l/_BvdZEsAcxUZS

Answer: D

o Watch Video Solution

28. Two circle touch each other internally.The
distance between their centres is 1.5 cm.IF the
radius of one circle is 3.5 cm,then the radius of

the other circle is:

A.5cm

B.4 cm

C.3cm


https://dl.doubtnut.com/l/_BvdZEsAcxUZS
https://dl.doubtnut.com/l/_nZGN5c8Y46AH

D.2.5cm

Answer: A

o Watch Video Solution

29. APQR is inscribed in a circle such that QR

is diameter|f ZQ) = 35° then ZR=

A.90°

B.55°

C.45°


https://dl.doubtnut.com/l/_nZGN5c8Y46AH
https://dl.doubtnut.com/l/_ssCTZVQ4thX0

D.35°

Answer: B

° Watch Video Solution

30. Radii of twi concentre circles 8 cm a and 10

cm respectively.The length of the greatest

chord which is tangent to the inner circle is:

A. 6cm

B. 8cm


https://dl.doubtnut.com/l/_ssCTZVQ4thX0
https://dl.doubtnut.com/l/_iSnjDc5xLQsl

C.12xm

D. 20cm

Answer: C

o Watch Video Solution

31. In two concentric circle of radii 6cm and
10cm with centre O,0P is the radius of the
smaller circle.OPbotAB,AB" cuts the outer circle

at A and B then the length of AB is:


https://dl.doubtnut.com/l/_iSnjDc5xLQsl
https://dl.doubtnut.com/l/_0Lj6CAyjE4pK

A. 8cm

B. 16cm

C.4cm

D. 20cm

Answer: B

° Watch Video Solution

32. The angle formed by the radius at the

point of contact with a tangent is:


https://dl.doubtnut.com/l/_0Lj6CAyjE4pK
https://dl.doubtnut.com/l/_I7FbnuH6CkUW

A. 30°

B.180°

C.90°

D.60°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_I7FbnuH6CkUW

33.In the figure ,the length of OP is:

J_-F- — T A'.
-~
f "2 .
i : I.“H'I-_
', : =

\

I " .-""-.

-.__.\_-\___-'__'_.

A. 5cm

B.4cm

C.3cm

D. 25cm


https://dl.doubtnut.com/l/_pvjw03DeCjcW

Answer: A

o Watch Video Solution

34.In the figure ,if PA and PB are tangents and

AB=APthen ZAPB is:



https://dl.doubtnut.com/l/_pvjw03DeCjcW
https://dl.doubtnut.com/l/_xrFtcEAT2Bxa

Answer: D

O Watch Video Solution

35. If two circle of radii 9 cm and 4 cm are
touching internallythen the distance between

their centres in cm is:

A. 13


https://dl.doubtnut.com/l/_xrFtcEAT2Bxa
https://dl.doubtnut.com/l/_krXy91rbKoAL

B.36

C.8

D.5

Answer: D

o Watch Video Solution

36. Two circles of radii 4 cm and 3cm touch

each other then the distance between their

centres will be:


https://dl.doubtnut.com/l/_krXy91rbKoAL
https://dl.doubtnut.com/l/_dxjfO9IRGeTA

A.7cm

B. 1cm

C. Either 7cm or 1cm

D. Ocm

Answer: C

o Watch Video Solution

37. Three circles of radii 4 cm ,3cm and 2cm
touch each other externally.The perimeter of

the triangle formed by joining their centre is:


https://dl.doubtnut.com/l/_dxjfO9IRGeTA
https://dl.doubtnut.com/l/_tIZOEwVraKhU

A. 9cm

B.15 cm

C.18 cm

D.12 cm

Answer: C

o Watch Video Solution

38. A tangent of length 16 cm is drawn to a
circle at a distance of 20 cm away from the

centre of the circle.The radius of the circle is:


https://dl.doubtnut.com/l/_tIZOEwVraKhU
https://dl.doubtnut.com/l/_9sL5CExanxjR

A.12 cm

B.16 cm

C.20cm

D.8 cm

Answer: A

° Watch Video Solution

39. AC,CE,EH are tangents drawn to the circles

at B,D and F respectivelylf CE=10 cm and


https://dl.doubtnut.com/l/_9sL5CExanxjR
https://dl.doubtnut.com/l/_tJfpYNEnGVvs

DE=3.5 cm,then EF is equal to :

C D

A. 6.5 cm

B.3.5cm

C.10 cm

D.5cm


https://dl.doubtnut.com/l/_tJfpYNEnGVvs

Answer: B

o Watch Video Solution

40. For a circle of radius 5 cm two tangents
P A and P B are drawn from a point P.If PA=12

cm and ZPAB = 60° then the length of AB
is:

A.10cm

B. 12cm

C.2.5cm


https://dl.doubtnut.com/l/_tJfpYNEnGVvs
https://dl.doubtnut.com/l/_iK0baolWjgGv

D. 6cm

Answer: B

° View Text Solution

41. Two circles of radii 6.9 cm and 2.8 cm touch

each other externallyThen the distance

between their centres is:

A.3.45cm

B.14 cm


https://dl.doubtnut.com/l/_iK0baolWjgGv
https://dl.doubtnut.com/l/_LWgcue546AfH

C.41cm

D.9.7 cm

Answer: D

o Watch Video Solution

42. PA and PB are the tangents to a

circlewith centre O as shown in figure.lF

/AOB = 140° then the measure of ZAPB


https://dl.doubtnut.com/l/_LWgcue546AfH
https://dl.doubtnut.com/l/_a9QWFPu0MIbu

A.40°ecm

B.20° cm

C.90°cm

D. 140° em

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_a9QWFPu0MIbu

43. APB is tangent at P to the circle with

centres OIf ZQPB = 60° then ZPOQ is :

A.120°

B.90°


https://dl.doubtnut.com/l/_a9QWFPu0MIbu
https://dl.doubtnut.com/l/_EI3TWMSNJAz7

C.100°

D.60°

Answer: A

° Watch Video Solution

44. AP is the tangent to a circle with centre O

as shown in the figure IF ZP = 45" and


https://dl.doubtnut.com/l/_EI3TWMSNJAz7
https://dl.doubtnut.com/l/_5UTHCVLLLFyC

radius of the circle is 5cm,then OP is equal to :

*

M,

)

A. 5cm
B. 10cm
C.9cm

D. 5v/2cm

Answer: D


https://dl.doubtnut.com/l/_5UTHCVLLLFyC

° Watch Video Solution

45. In the figure ,AC is a diameter ,/A = 35°

the ZC is equal to:

A.90°


https://dl.doubtnut.com/l/_5UTHCVLLLFyC
https://dl.doubtnut.com/l/_4OWFBGOHP9ev

C.70°

D.55°

Answer: D

o Watch Video Solution

46. In a circle of radius 5 cm,the distance of

chord of length 8 cm from the centre is:

A.4cm


https://dl.doubtnut.com/l/_4OWFBGOHP9ev
https://dl.doubtnut.com/l/_HqaWrlKTRk9T

B.13cm

C. 2.5cm

D.3cm

Answer: D

o Watch Video Solution

47.1n the figure ,AP=3cm and PC=8 cm,then the

length of the tangent CD is :


https://dl.doubtnut.com/l/_HqaWrlKTRk9T
https://dl.doubtnut.com/l/_zHWFou2ZzuAI

A.11cm

B.5cm

C.7cm

D. 8cm



https://dl.doubtnut.com/l/_zHWFou2ZzuAI

Answer: B

o Watch Video Solution

48. In the figure ,PA and PB are the tangents
and ZAOB = 140° Then the measure of

LAPQO is:

A.90°


https://dl.doubtnut.com/l/_zHWFou2ZzuAI
https://dl.doubtnut.com/l/_PoT78NYlMAy8

B.40°

C.20°

D. 180°

Answer: C

o Watch Video Solution

49, A tangent is drawn to a circle of radius 8
cm from a point which is at a distance of 10 cm
from the centre of the circle.Then the length

of the tangent is:


https://dl.doubtnut.com/l/_PoT78NYlMAy8
https://dl.doubtnut.com/l/_nU1Qw9jBDs3G

A.8cm

B.18 cm

C.2cm

D. 6cm

Answer: D

o Watch Video Solution

50. Two circular dises of radii 4.5 cm and 2 cm
are fixed to astring of length 10 cm as

shown.Then the diameter of another disc


https://dl.doubtnut.com/l/_nU1Qw9jBDs3G
https://dl.doubtnut.com/l/_bMtnduz9dGrK

which touches the circular dises at P and Q is:

(o

A. 6.5 cm

B.2.5cm

C.1.75cm

D.3.5cm

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bMtnduz9dGrK

Very Short Answer Type Questions

1. Identify then tangent to the circle in the

adjoining figure and write its name.

° Watch Video Solution



https://dl.doubtnut.com/l/_bMtnduz9dGrK
https://dl.doubtnut.com/l/_dnfwt6SFnJrv

2.In the figure 'O’ is the centre of the circle ,PT

is a tangent and if /ZPTO = 30°, find ZPOT

° Watch Video Solution



https://dl.doubtnut.com/l/_dnfwt6SFnJrv
https://dl.doubtnut.com/l/_kUUTjJFzDkKN

3. In the figure ,BC is the diameter.What is the

measure of x?

A

o Watch Video Solution



https://dl.doubtnut.com/l/_XvqG7wIB29uP

4. O is the centre of the circle.P is an external
pointIf AP=8cm ,Ap=BP and ZAPB = 60°

then find the length of the chord AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_eYx9ro6XkY64

5. In the given figure ,AX,AY and AZ are the
tangents to the circles.IF AX=8 cm,find AY and

AZ.

o Watch Video Solution



https://dl.doubtnut.com/l/_QwjHTCywl9G1

6. A chord of length 8 cm is at a distance of 3
cm from the centre.Then what is the radius of

the cirecle?

o Watch Video Solution

7. If the radous of a circle is 8cm and the
length of one of its chords is 12cm ,then find

the distacne of the chord from the centre.

o Watch Video Solution



https://dl.doubtnut.com/l/_mjlQKbnQC8vy
https://dl.doubtnut.com/l/_93m16VjiMNN7
https://dl.doubtnut.com/l/_1QR1eYjJsFaA

8. Find the length two radii of a circle is 130°
Find the angle between the tangents at the

ends of the radii.

o Watch Video Solution

9. In figure ,if AB,AC and line | are tangents to

the circle and semi-perimeter of


https://dl.doubtnut.com/l/_1QR1eYjJsFaA
https://dl.doubtnut.com/l/_g5Lnu9OXURqQ

AAPQ = 14cm, then determine AC

o Watch Video Solution

10. If TP and TQ are two tangents to a circle
with centre O such that ZPOQ = (2z + 3)°

and ZPTQ = (3z — 8)" then find the value

of x.



https://dl.doubtnut.com/l/_g5Lnu9OXURqQ
https://dl.doubtnut.com/l/_SwneTDJpoU6Z

I 0 Watch Video Solution I

11. If two tangents inclined at an angle of 60°
are drawn to a circle of radius 3 cm,then find

the length of each tangent.

° Watch Video Solution

Short Answer Type Questions



https://dl.doubtnut.com/l/_SwneTDJpoU6Z
https://dl.doubtnut.com/l/_cu0naWJVvFc3

1. In the given figure,PQ,PR and BC are the
tangents to the circle,BC touches the circles
at XIf PQ=7cmthen find the perimeter of

APBC

e R
i —
.-'/f \.ﬂ': -

o Watch Video Solution



https://dl.doubtnut.com/l/_KjhNGzoxqWjO

2. Draw a circle of radius 3.5 cm and construct
a chord of length 6cm in it.Measure the

shorted distance between the centre and the

chord.

° Watch Video Solution

3. In a circle of radius 5 cm,construct a chord
of length 8 cm .Measure the distance between

the centre and the chord.

° Watch Video Solution



https://dl.doubtnut.com/l/_qcht2KpqPIPR
https://dl.doubtnut.com/l/_kT1HpA7r73Pk

4. In the given figure ,0 is the centre of the

circle AB=2cm,AC=3cm,CE=6cm.Find DE.

&

° View Text Solution

Long Answer Type Questions |


https://dl.doubtnut.com/l/_kT1HpA7r73Pk
https://dl.doubtnut.com/l/_hUtQG9SmcOxV

1. Prove that the tangent at any point of a
circle is perpendicular to the radius through

the point of contact.

o Watch Video Solution

2. Three («circles touch each other
externallyFind the radii of the circles if the
sides of the triangle formed by joining the

centres are 7cm,8cm and 9cm respectively.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_kew8ck4I3qwY
https://dl.doubtnut.com/l/_u8UWs94tBCiB

3. In the given AABC,AB=12cm,BC=8cm and

AC=10cm.Find AF,BD and CE.

C

o Watch Video Solution



https://dl.doubtnut.com/l/_u8UWs94tBCiB
https://dl.doubtnut.com/l/_8uBNMiMzpGF2
https://dl.doubtnut.com/l/_9B1lz6niZWd6

4, In the given figure AB=BC,/ABC = 68°
and DB are the tangents to the circle with

centre O.Calculate the measure of:

(a) LACB (b)Z/AOB (C)ZADB

o Watch Video Solution

Textbook Corner Exercise 4 1



https://dl.doubtnut.com/l/_9B1lz6niZWd6

1. How many tangents can a circle have ?

o Watch Video Solution

2. A line intersecting a circle in two points is

called a secant .

o Watch Video Solution

3. Fill in the blanks

(i) A circle can have ... parallel tangents at


https://dl.doubtnut.com/l/_EvQuIFQaDRIK
https://dl.doubtnut.com/l/_HWPa6B5wclCZ
https://dl.doubtnut.com/l/_cweLVYJVsPZG

the most.

o Watch Video Solution

4. Fill in the blanks
(iv) The common point of a tangent to a circle

and the circle is called .................

o Watch Video Solution

5. A tangent PQ at a point P of a circle of

radius 5 cm meets a line through the centre O


https://dl.doubtnut.com/l/_cweLVYJVsPZG
https://dl.doubtnut.com/l/_mrslGdY4u39p
https://dl.doubtnut.com/l/_sazwWuSo5ivH

at a point Q so that OQ =12 cm. Length PQ is .

o Watch Video Solution

6. Draw a circle and two lines paralllel to a
given line such that one is a tangent and the

other, a secant to the circle .

o Watch Video Solution

Textbook Corner Exercise 4 2


https://dl.doubtnut.com/l/_sazwWuSo5ivH
https://dl.doubtnut.com/l/_HFuEUjgX8EvQ

1. From a point Q ,the length of the tangent to
a circle is 24 cm and the distacne to Q from
the centre is 24.5 cm.The radius of the circle is
(a) 4.92 cm

(b)12 cm

©15 cm

(d)24.5 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_cMZpn6EYGFaz

2.In the Fig, if TP and TQ are the two tangents

to a circle with centre O so that

/ZPOQ@ = 110°,then ZPTQ is equal to

T

° Watch Video Solution



https://dl.doubtnut.com/l/_KeC1IkhOeZUC

3. If tangents PA and PB from a point P to a
circle with centre O are inclined to each other

at angle of 80° ,then ZPOA is equal to

o Watch Video Solution

4. Prove that the tangents drawn at the ends

of a diameter fo a circle are parallel .

° Watch Video Solution



https://dl.doubtnut.com/l/_At3UafjHSfgw
https://dl.doubtnut.com/l/_L7K3uu91gLBO

5. Prove that the perpendicular at the point of
contact to the tangent to a circle passes

through the centre.

o Watch Video Solution

6. The length of a tangent from a point A at
distance 5 cm from the centre of the circle is 4

cm . Find the radius of the circle .

o Watch Video Solution



https://dl.doubtnut.com/l/_94fYXsD2o3K5
https://dl.doubtnut.com/l/_x5andMqA5d2z
https://dl.doubtnut.com/l/_E9DyMhZB6erk

7. Two concentric circle of radii 5 cm and 3cm
are drawn. Find the length of the chord of the

larger circle which touches the smaller circles.

o Watch Video Solution

8. A quadrilateral ABCD is drawn to
circumscribe a circle (see Figure).Prove that

AB+CD=AD+BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_E9DyMhZB6erk
https://dl.doubtnut.com/l/_ByivIgIdKqE4
https://dl.doubtnut.com/l/_L31XYGbWTUL1

9. In the given figure XY and XY are two
parallel tangents to a circle with centre O and
another tangent AB with point of contact C

intersecting XY at A and X'Y' ar B.Prove that

LAOB = 90°
X ———
X -

o Watch Video Solution



https://dl.doubtnut.com/l/_L31XYGbWTUL1

10. Prove that the angle between the two
tangents drawn from an external point to a
circle is supplementary to the angle
subtended by the line segment joining the

points of contact at the centre.

o Watch Video Solution

11. Prove that the parallelogram circumscribing

a circle is a rhombus.

° Watch Video Solution



https://dl.doubtnut.com/l/_FsWagozq3Y9i
https://dl.doubtnut.com/l/_7ySl3bSXB7HC

12. A triangle ABC is drawn to circumscribe a
circle of radius 4 cm such that the segments
BD and DC into which BC is divided by the
point of contact D are lengths 6 cm and 8 cm

respectively. Find the sides AB and AC.

o Watch Video Solution

13. Prove that opposites of a quadrilaterial
circumscribing a circle subtend supplementary

angles at the centre of the circle.


https://dl.doubtnut.com/l/_7ySl3bSXB7HC
https://dl.doubtnut.com/l/_8xe8IZVaavt1
https://dl.doubtnut.com/l/_Cy8Umn2bwua0

o Watch Video Solution



https://dl.doubtnut.com/l/_Cy8Umn2bwua0

